FIIESEFRELBERUBEFIEASHR I ER
E e 094 10 114 127 134 14 15 167 1745 18 194 |20 (RE) 219 225 234
100m B - 2 7 3:7 27 |®EB-4-6| EB-2[2-4-6 4 B 3 (B2 -3 B2 | BB 2 |1BE:-2-3[@EBs-2-3|®B-2-4
200m B 6 25 Bl 2-5-8[2-3-4]2-5-6[2-3-5|@g-2-3|@g-2-3[2 -3 -7 @F-4 [EE-2-3[@E-2-3[@E-3 -6
400m 7 3 BRE - 5 34 B%-4-7| 26 3.6 6 -7 |BE-2- 4|6 23 &5 3 3 -4
800m 3 s - 6 2 2
1500m 8 3-6 2.7 |BBs-5-7] #BF
5000m 4 -8 4 B -6
110mH 3 5 78 7 B - 41| 3 -6 35 B2 |[B-4-7] 3:5-6 | BE- 4
400m H B 6 4 -8 2 ®H-4-5] 2-8 B 7 | B 5 [EE-3 7| B4 4-6 2-3-5
3000m S C 3
5000mW
EF=2k 2 7 B35 2 5-8 |EE-2 -5|@B-2-7 2-5-8 2
=T 3 7 7 7 7 6 B 25 6 B - 6
ENEDk 4 -8 B 7 -3 2 -3 3-5 2 4 -5 5 6 &% - 3
—ERBk 7 5 B 2 - 4 4 -7 2 - 7 B3 B BB 4 BB 3
R LI 8 3-8 | B -5 2 -3 |2 -5 -7 % 3 -8|B% -2 3|B% -2 -46F- -3 668523
A 2 2-6-8|2 -4 6|2 -4 -5 @EE 2 -3 2 -6 |@B-4-5| 2.3 |BH-2-3@E-2-5
N1 6 2 1B 67 B 3 (BB 2 -3|BE-4-T|BB-2-6[2-3 -4
DE: 5 B 6 6 7 46 B - 3 - 8
ik 2 i @4 -5] BHE-2 | 4-7 2 3-4-7] 2-6 |@mB-5-6|@B-3 5|@K-4-5|EK-2-3 _ RS -2 - 3| @K - 2 -3
A BZiQ 3 2 [0 16 EE0) E6) EE6) [EE0) 56
cKZwv o 350 150 2 2 BEBEG 50 2 B 356 530
7 4—JLF 3 4 2 RO 2 o) 16 [E10) [E16) [E6)
7+ 09%F 10 114 127 134 14 154 164 172 184 194 [20% (/%) 21 227 239
100m 4 2 -4 |@ERs-2-5|@E%-3-4| BEE-T7 |2-3-5]2-3-4]2-3-5 ] BEE-2 | BE-4
200m 3 2 -4 -6|@EB-3-6|@B-2-3] EBs-2 [2-4-7[2-3-4[@-2-3] EB-2 (@B 2
400m 6 2 -7 |®EB-3-8|@mE-4-5 @2 |BB-2-7|EE-2- T[EE-2-4EE-3- ﬁﬁ%-z
800m 6 2 3-5 |@E-7-8] 4-6 | %W 5 | &% -3 |EH 3 6 BB 3
1500m 6 3-6-7|@E-2-3] @F-7 4 -7 3-5 1B 24 ﬁﬁ%-s
3000m 3 3.7 |E¥-2-3|4-5-6|6-7-8] 2-5 67 3 2 -4 -8
100mH 6 6 3 3.4 (51 2 -3 -7|@E8E-4- 5@ 23 27 2-4-6 2
400m H 5 6 3 2 237 5.8 B - 3 [BEs-2-4] B2 1B
5000mW 6
E =Bk 5 3 Z 4 BW-5 | 4-5:6 | 2-3-4 | B 5
| =k
E MR 3 B [ 2 -8 2 6 45 B - 6
—EXBk B 7 ] 4 2-5-7 | 2-3-4 | @ 2
R 2 1205 B -8 | BBs-6 [@r-3-4@p-2-3] BF-2 [BEE-3-5]@E-2-3
AR 4 3 25 |2 -4 -6|@-2-3|6BF -2 -3|BK- -2 6@ 2485 23
Ny I—& 26 B 3 @3- 5| @B -2 4B -2 -3|@K-2 -5
DE: 7 8 25 56 | BE-7 | BB
B B 5 6 2 26 B 2.8 |BFE-2-4 &R
A 2 BBO | BRQ | BB | 6B B0 | BBe | B0 |
I\ 7 7 2 150 1BEQ BEQ 1B® 5356 1BEO 530
74 =LK 3 3 BEQ R0 [E53O) [E10) [E6) [E156)




